Thursday 30t April 2020

L.O. To calculate the perimeter of a shape ..

| understand what the perimeter of a
shape is.

| can calculate the perimeter of a shape.

| can use my knowledge of perimeter to
problem solve.



What is the perimeter?
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<+ Add to My Bitesize

https://www.bbc.co.uk/bitesize/topics/zvmxsbk/articles/zsr4k7h

\)r

Calculating perimeter
The perimeter is the distance all
the way around the outside of a
2D shape.

To work out the perimeter, add
up the lengths of all the sides.
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Task 1

o Work out the perimeter of each shape.

a) 5 cm s )
3 am 3 cm 3m
‘ > o Which shapes have a perimeter of 16 cm.
5 cm 8 e
| 40 mm
b 40 mm X /% \ “’“I A

Show your
working out

-+

20 mm

o Rosie and Eva work out the perimeter of the shape below.
6 cm

6+ 4 =10,
so the perimeter is
10 cm.

Who is correct?

The perimeter is
20 cm.

How do you know?



Task 2

o Work out the perimeter of these shapes.
a) 3 cm

X /%
Show your
working out

-+

9 cm

b)
° Which shape has the longest perimeter? Tick your answer.
* 4 cm » / \Cﬂ\
3 cm
6 cm 6 cm
4.cm What do you notice? 70 mm c
20 ':V ‘wmm N

o This rectangle has a perimeter of 18 cm. 6 cm » c
Work out the length of side a.

»

20 mm

20 mm

20 mm



Teddy says,

You only need to know
the length of one side of

@ these 2-D shapes to
& work out the perimeter.

Do you agree with Teddy?
Explain your answer.

Each side of this shape is of equal length.

The perimeteris 60 cm.
How long is each side?



Time to mark your work

Answers below!



Task 1

o Work out the perimeter of each shape.

a) 5cm

- >

5 cm

perimeter =| |(, [em

b) 40 mm

20 mm
perimeter =| |90 |mm
4]
3m

perimeter =| |2 |[m

o Rosie and Eva work out the perimeter of the shape below.
6 cm

so the perimeter is
10 cm.

{ee
S
The perimeter is

20 em.

Who is correct? — EVQl

How do you know?

t

Suden.

o Tick the shapes with a perimeter of 16 cm.

8 cm

&+ >
*

2ch 40 mm

[
. 6 cm N
10 cm
2ch
T EI




Task 2

b) 80 mm

° WYWhich shape has the longest perimeter? Tick your answer.
4 cm 2 :;/ -\cm 30 mm

2 cm 3 cm
6 cm & cm

o =

-

-————————
20 mm

perimeter -

What do you notice?

o Work out the perimeter of these shapes o This rectangle has a perimeter of 18 em.

Work out the length of side a.
a) 3 cm

-~
|2crn
2 5cm € cm

+
*

a
9 cm
7 cm
perimeter = 18 cm
perimeter = | 7 [, -, side a =

8 cm



Teddy says,

You only need to know
the length of one side of

these 2-D shapes to

work out the perimeter.

Do you agree with Teddy?
Explain your answer.

You only need to
know the length of
one side for the
square and the
pentagon as all
the sides are the
same.

However, Teddy is
wrong because for
the rectangle you
need to know two
lengths and for the

triangle you need

to know all of
them.

Each side of this shape is of equal length.
The perimeteris 60 cm.
How long is each side?

The shape has 10
sides so the length
of each side s 6

cm




Don’t forget to self assess neatly at the end! You can add a comment if you like.

Now, take a photo of your work and upload it to the homework page Maths 30.04.20!



